
 

Norwegian Wood 

The Beatles 

 
Tenthumbspro.com 

For educational purposes only 

 

Key: G 

Tempo: 120 

Tutorial Key: G 

Original key: E 

Chords needed: G, G6, Gsus2, Gsus4, F, Gm, C, Am, D7 

Video Tutorial: https://www.youtube.com/watch?v=A-yV2iagPY8 

 
Chord Shapes: 

         
         

Strum Pattern – Where used, a good ¾ strum patter to have in the bag 
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Part A – Verse 

 
Part B – Bridge 
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Last Verse 

 
 

Song order 

 

Intro 

Part A - Verse 

Part B - Bridge 

Part A - Verse 

Part B - Bridge 

Part A – Last Verse 

 

This was the very first song by The Beatles to feature George Harrison 

playing the sitar. A little fact to make you sound cool. 
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